

Page 1 of 6

Contract ID: 23704 Counties: ATLANTIC

Letting Date: October 19, 2023 District(s): H4
Call Order: 704 Project(s): NA

Contract Time: 03/01/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description Alt Set / Alt Member Qu			(1) H & L CONTI	RACTING, LLC	(2) A.P. CONST	RUCTION, INC.		
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	Misc		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	100,000.00000	100,000.00	100,000.00000	100,000.00		
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0002	152015P	1.000	20,000.00000	20,000.00	25,000.00000	25,000.00		
POLLUTI	ON LIABILITY INSU	RANCE DOLL						
0003	153009P	(1)	15,000.00000	15,000.00	10,000.00000	10,000.00		
_	ART PROGRESS ILE AND UPDATES	LS						
0004	154003P	(1)	1,300,000.00000	1,300,000.00	780,000.00000	780,000.00		
MOBILIZ	ATION	LS						
0005	155003M	1.000	35,000.00000	35,000.00	15,000.00000	15,000.00		
FIELD OF	FFICE TYPE A SET I	UP U						



Page 2 of 6

Contract ID: 23704 Counties: ATLANTIC

Letting Date: October 19, 2023 District(s): H4
Call Order: 704 Project(s): NA

Contract Time: 03/01/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description Alt Set / Alt Member			(1) H & L CONTRACTING, LLC		(2) A.P. CONSTRUCTION, INC.			
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I:</b> 0001	Misc		Cat Alt	Set:	Cat A	It Member:	
0006	155021M	5.000	3,500.00000	17,500.00	2,500.00000	12,500.00		
FIELD OFF	FICE TYPE A ANCE	MO						
0007	156015M	1.000	16,000.00000	16,000.00	5,000.00000	5,000.00		
NUCLEAR	DENSITY GAUGE	U						
8000	157004M	1.000	30,000.00000	30,000.00	40,000.00000	40,000.00		
CONSTRU	ICTION LAYOUT	DOLL						
0009	158009M	200.000	21.00000	4,200.00	10.00000	2,000.00		
HEAVY DU	JTY SILT FENCE,	LF						
0010	158072M	2.000	2,500.00000	5,000.00	1,000.00000	2,000.00		
OIL ONLY TYPE 1	EMERGENCY SPIL	L KIT, U						



Page 3 of 6

Contract ID: 23704 Counties: ATLANTIC

Letting Date:October 19, 2023District(s):H4Call Order:704Project(s):NA

Contract Time: 03/01/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description Alt Set / Alt Member Qua			(1) H & L CONTI	RACTING, LLC	(2) A.P. CONSTI	RUCTION, INC.		
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001	Misc		Cat Al	Set:	Cat A	It Member:	
0011	MMG021M	2,200.000	12.00000	26,400.00	20.00000	44,000.00		
PERIMETE	R CONTAINMENT	LF						
0012	MMG089M	1.000	7,500.00000	7,500.00	25,000.00000	25,000.00		
Temporary	Construction Acces	s LS						
0013	159018M	1.000	3,500.00000	3,500.00	2,500.00000	2,500.00		
CONSTRU SIGN, 6' X	CTION IDENTIFICA 12'	ATION U						
0014	161003P	(1)	95,000.00000	95,000.00	250,000.00000	250,000.00		
FINAL CLE	ANUP	LS						
0015	MMG126M	1.000	109,000.00000	109,000.00	5,000.00000	5,000.00		
VIBRATION MONITORI	N MOVEMENT ING	DOLL						
0016	201003P	(1)	45,000.00000	45,000.00	250,000.00000	250,000.00		
CLEARING	SITE	LS						



Page 4 of 6

Contract ID: 23704 Counties: ATLANTIC

Letting Date: October 19, 2023 District(s): H4
Call Order: 704 Project(s): NA

Contract Time: 03/01/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description Alt Set / Alt Member Qua			(1) H & L CONT	RACTING, LLC	(2) A.P. CONST	e) A.P. CONSTRUCTION, INC.		
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I</b> : 0001	Misc		Cat Alt	t Set:	Cat A	It Member:	
0017	MMG014M	56,230.000	16.00000	899,680.00	45.00000	2,530,350.00		
DREDGING CY								
0018	MMG015M	56,230.000	4.00000	224,920.00	35.00000	1,968,050.00		
DREDGED MATERIAL CY PROCESSING								
0019	MMG079M	1.000	2,969,000.00000	2,969,000.00	950,000.00000	950,000.00		
_	) MATERIAL RING SITE PREPARA	LS TION						
0020	MMG124M	1,500.000	30.00000	45,000.00	100.00000	150,000.00		
CONFINE	D DISPOSAL FACILIT JCTION	ry cy						
0021	603111M	16.000	955.00000	15,280.00	1,200.00000	19,200.00		
OUTFALL	SCOUR HOLE	SY						



Page 5 of 6

Contract ID: 23704 Counties: ATLANTIC

Letting Date: October 19, 2023 District(s): H4
Call Order: 704 Project(s): NA

Contract Time: 03/01/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) H & L CONTI	RACTING, LLC	(2) A.P. CONST	RUCTION, INC.			
Alt Set / Al		tity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Misc		Cat Alt	Set:	Cat A	It Member:	
0022 60	05012P	620.000	90.00000	55,800.00	25.00000	15,500.00		
CHAIN-LINK COATED STE	FENCE, ALUMINUM- EEL, 7' HIGH	LF						
0023 60	05066M	2.000	3,500.00000	7,000.00	1,500.00000	3,000.00		
	N-LINK FENCE, COATED STEEL, 8'	U						
0024 80	06018P	300.000	23.00000	6,900.00	3.00000	900.00		
FERTILIZING F	S AND SEEDING, TYPE	SY						
0025 80	7003M	1,300.000	36.00000	46,800.00	15.00000	19,500.00		
TOPSOIL STA	ABILIZATION, TYPE 1	SY						
0026 80	07006M	7,800.000	8.60000	67,080.00	20.00000	156,000.00		
TOPSOIL STA	ABILIZATION, TYPE 2	SY						



Page 6 of 6

Contract ID: 23704 Counties: ATLANTIC

Letting Date: October 19, 2023 District(s): H4
Call Order: 704 Project(s): NA

Contract Time: 03/01/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) H & L CONTRACTING, LLC		(2) A.P. CONSTRUCTION, INC.			
Alt Set / Alt Membe	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Misc		Cat Al	Set:	Cat A	It Member:	
0027 809003M	300.000	14.00000	4,200.00	4.25000	1,275.00		
STRAW MULCHING	SY						
Section Totals:			\$6,170,760.00		\$7,381,775.00		
Contract Totals  Cost Plus Time Totals			\$6,170,760.00 \$6,170,760.00		\$7,381,775.00 \$7,381,775.00		

<sup>( )</sup> indicates item is bid as Lump Sum  $\,$ 



Vendor Ranking Page:

Call Order: 704 Contract ID: 23704 Counties: ATLANTIC

Letting Date: October 19, 2023 10:00 AM District(s): H4

Contract Time: 03/01/24 COMPLETION DATE

Contract Description: Maintenance Dredging of Patcong Creek Project(s): NA

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	H & L CONTRACTING, LLC	\$6,170,760.00	100.00%
2	A.P. CONSTRUCTION, INC.	\$7,381,775.00	119.63%
	J.F. BRENNAN CO., INC.	Irregular	

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.